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Homework 1 – Non-Calculator 

 
1  Write 40 673 to the nearest thousand. 

 

 

.............................. 

 

(Total for Question 1 is 1 mark) 

 

 

2 Change 8 kilometres into metres. 

        

 

 

 

 

   ……………………. metres 

 

(Total for Question 2 is 1 mark) 

 

 

3  Write the following numbers in order of size.  

Start with the smallest number. 

 

0.5           0.577           0.507          0.57          0.05 
 
 

         
.....……………………………………….............. 

 

(Total for Question 3 is 1 mark) 

  

 

4 Write 150 minutes in hours and minutes. 

 

 

 

 

............ hours ............ minutes 

 

(Total for Question 4 is 1 mark) 

 

 

 

 

 

 

 

 

 

5 Fiona recorded the temperature, in °C, at 9 am on seven different days in December. 

 

Here are her results. 

 

Day Mon Tue Wed Thu Fri Sat Sun 

Temperature  (°C) 5 4 1 – 4 – 6 –2 2 

         
 

   

(a)   Work out the difference between the temperature at 9 am on Monday and 

the temperature at 9 am on Friday. 

 

 

 

 

………………..°C 

(1) 

(b) Find the median temperature. 

 

 

 

 

 

 

………………..°C 

(2) 

 

(Total for Question 5 is 3 marks) 

 

6  Which is larger,      25%  or  
3

10
 ? 

 You must show how you get your answer. 

 

 

 

 

 

 

 

 

 

 

 

………………… 

  

(Total for Question 6 is 2 marks) 

 

 



 

7 A ticket for a seat at a concert costs £8.75 

There are 19 rows of seats. 

There are 28 seats in each row. 

The tickets for 100 of the seats have not been sold. 

 

 Work out an estimate for the total cost of the tickets that have been sold.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

£……………………. 

(3) 

 

(Total for Question 7 is 3 marks) 

 

 

 

8 Solve 4y – 7 = 29 

 

 

 

 

 

 

y = ……………….. 

 

 (Total for Question 8 is 2 marks) 

 

 

9 

 

ABCD is a quadrilateral. 

ADE is a straight line. 

 

Find the size of the angle marked y. 

Give a reason for each stage of your working. 

 

 

 

 

 

 

 

……………………º 

 

 (Total for Question 9 is 4 marks) 

 

 

10 Solve the simultaneous equations 

  x – 5y = 10 

3x + y = 6 

 

 

 

 

 

 

 

 

 

 

 

 

x = .................   

 

y = ................. 

 

(Total for Question 10 is 3 marks) 



 

11 (a)  Work out     
5

4
 × 

3

1
 

 

 

 

 

 

 

…..…………… 

(1) 

 

(b) Work out     
8

3

 
+ 

5

1
 

 

 

 

 

 

 

 

 

…..…………… 

(2) 

 

(Total for Question 11 is 3 marks) 

 

 

12 Write the ratio 150 : 450 in the form 1 : n where n is a whole number. 

 

 

 

 

 

 

 

 

 

 

 

…..…………… 

 

 (Total for Question 12 is 2 marks) 

 

 

 

 

13 (a)  Write 247 000 in standard form. 

 

 

 

…..……………………........... 

(1) 

 

 (b)  Write 6.5 × 10−4
 as an ordinary number. 

 

 

 

…..……………………........... 

(1) 

 

 (c)  Work out  (3 × 10 
−7) × (8 × 10 

−6) 

  Give your answer in standard form. 

 

 

 

 

 

 

 

 

 

…..……………………........... 

(2) 

 

(Total for Question 13 is 4 marks) 

 

 

14 Expand and simplify       2(m – 3) + 3(m + 4) 

 

 

 

 

 

 

 

 

......................................... 

 

(Total for Question 14 is 1 marks) 

 



 

15 The scatter graph shows the age and the value of each of ten cars of the same make and 

model. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

(a) Describe the relationship between the value of a car and the age of the car. 

 

………………………………………………………………………………………………….. 

 

………………………………………………………………………………………………….. 

(1) 

  

(b) Draw a line of best fit on the scatter graph. 

(1) 

 

It may not be reliable to use the line of best fit to predict the value of a car that is 10 years old. 

 

(c) Give a reason why. 

 

………………………………………………………………………………………………….. 

 

………………………………………………………………………………………………….. 

  

………………………………………………………………………………………………….. 

(1) 

 

(Total for Question 15 is 3 marks) 

 

 

 

16  There are 270 students in Year 7 

Each student studies one of French or German or Spanish. 

 

Of these 270 students 

 

 
9

2
study French 

 the number who study French : the number who study Spanish = 3 : 7 

 42 boys study German 

 

Of the students who study German, what percentage are boys? 

You must show your working. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

..................................% 

 

(Total for Question 16 is 5 marks) 

 

 



Homework 2  

 
1     Write the following numbers in order of size.                                                                                       

Start with the smallest number. 

 

0  – 1       3        5        – 4 

 

 

…………………………………………………………………  

 

 (Total for Question 1 is 1 mark) 

 

 
2     Write the ratio  3 : 12  in its simplest form. 

 

 

…………………… 

  

(Total for Question 2 is 1 mark) 

 

 
3      Write down all the factors of 8  

 

 

……………………………………………………………………… 

 

(Total for Question 3 is 1 mark) 

 

 

4 Write  
30

100
  as a percentage. 

 

 

…………………..% 

 

(Total for Question 4 is 1 mark) 

 

 
5    Change 250 millimetres to centimetres. 

 

 

………………………. Centimetres 

 

(Total for Question 5 is 1 mark) 

 

 

 

 

 

 

7 The pictogram gives information about the number of cakes sold in a shop on Monday,         

on Tuesday, on Wednesday and on Thursday last week. 

 

 
 

(a) How many cakes were sold on Thursday? 

 

 

………………………… 

(1) 

(b) Work out the total number of cakes sold on Monday, Tuesday and Wednesday. 

 

 

 

 

……………………… 

(2) 

On Friday 36 cakes were sold. 

 

(c) Show this information on the pictogram. 

 

(1) 

 

                         (Total for Question 7 is 4 marks) 

 

  



 

11  Here is a centimetre grid. 

 

 

 

          

          

          

          

          

          

 

On the grid, draw a rectangle with a perimeter of 20 cm. 

 

 

 

(Total for Question 11 is 2 marks) 

 

 

12 Michelle cycles for 3 hours at an average speed of 27 km/h. 

 

(a) How many kilometres does Michelle cycle? 

 

 

 

 

……………………….. km 

(2) 

  

 

Josh cycles 124 km in 4 hours. 

 

(b) What is his average speed?  

 

 

 

 

 

                                                                                                    …………………………….. 

km/h 

 (2) 

 

 

 (Total for Question 12 is 4 marks) 

 

 

14 (a)   Write 16.45 correct to 1 decimal place. 

 

 

 

 

…………………………….. 

                                                                                                                                             (1) 

 

(b)   Write 4136 correct to 2 significant figures. 

 

 

 

…………………………….. 

(1) 

 

(Total for Question 14 is 2 marks) 

 

 

15    
(a) Work out the value of  5x 

3
  when x = 2  

 

 

 

 

 

 

 

…………………………… 

(1) 

 (b)  Simplify  2a 
3
 × a 

4
 

 

 

 

………………………………….. 

(1) 

 

(c)  Simplify   12x 
5

 y 
2
 ÷ 3x 

2
 y 

 

 

 

………………………………….. 

(2) 

 

(Total for Question 15 is 4 marks) 

 

  



 

16 Here is a list of ingredients for making 12 rock cakes. 

 

 

 

 

 

 

 

 

 

 

 

 

 

Nishat has 

 

  800 g flour                                                                                                                              

 300 g  sugar 

 

She has plenty of all the other ingredients. 

 

Nishat wants to make 42 rock cakes. 

 

Does she have enough flour and enough sugar to make 42 rock cakes? 

You must show how you get your answer. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 (Total for Question 16 is 3 marks) 

 

Rock Cakes 

 

Ingredients for 12 rock cakes 

 

  225 g  flour 

   75 g  sugar 

 100 g  dried fruit 

   50 ml  oil 

   75 ml  milk 

 

17     The diagram shows triangle ABD and triangle BCD. 

 

 

 

 

 

 

 

 

 

ABC is a straight line. 

BCD is an equilateral triangle. 

 

Angle DAB = 25
o 

 

Work out the size of the angle marked x.                                                                                        

Give a reason for each stage of your working. 

 

 

………………………… 
o 

 

(Total for Question 17 is 4 marks) 

 

 

20 Find the highest common factor (HCF) of 90 and 126 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

………………………… 

 

(Total for Question 20 is 3 marks) 

 

 

 

 

 

 

 

 

 

A B C 

D 

x 

25° 



 

24     The table gives information about the length of each of 90 sticks. 

 

Length (b cm) Frequency 

0 < b ⩽ 8 5 

  8 < b ⩽ 16 20 

16 < b ⩽ 24 45 

24 < b ⩽ 32 20 

 

Jenny drew the frequency polygon below for the information in the table.                             

The frequency polygon is not correct. 

 

 

 

 
 

 

Write down two things that are wrong with the frequency polygon. 

 

1 …………………………………………………………………………………………………... 

 

…………………………………………………………………………………………………... 

 

2 …………………………………………………………………………………………………... 

 

…………………………………………………………………………………………………... 

 

(Total for Question 24 is 2 marks) 

 

 

28  Here are the first four terms of an arithmetic sequence. 

 

– 6               – 2               2               6 

 

(a) Find an expression, in terms of n, for the nth term of this sequence. 

 

 

 

 

 

……………………………. 

(2) 

 

(b) Find the 10th term of this sequence. 

 

 

 

 

……………………… 

(1) 

 

   (Total for Question 28 is 3 marks) 

 

 

29 (a)  Factorise fully  6m 

2
 + 8mp 

 

 

 

 

 

 

……………………………………. 

(2) 

 

 

(b) Expand and simplify        (x – 7)(x + 4) 

 

 

 

 

 

 

 

 

……………………………………………. 

(2) 

 

(Total for Question 29 is 4 marks) 

 

   



Homework 3 - Calculator  

 

1 Write 0.9 as a fraction. 

 

 

 

…………………… 

 

 (Total for Question 1 is 1 mark) 

 

 

2 Change 4000 millilitres into litres.  

 

 

 

 

  ........................................  litres 

 

(Total for Question 2 is 1 mark) 

 

 

4 Simplify  6k × 2t 

 

 

 

  .................................................  

 

 (Total for Question 4 is 1 mark) 

5 (a)  Simplify  4m – m + 3m
 

 

 

 

  .................................................  

 (1) 

 

(b)  Simplify  5n – 4 + 2n + 3 

 

 

  .................................................  

 (2) 

 (Total for Question 5 is 3 marks) 

 

6 Mehvish buys 
1

2
 kg carrots, 3 kg potatoes, 2 kg onions and 1 

1

2
 kg of chicken. 

 

Price list 

carrots 50p per kg 

potatoes 64p per kg 

onions 42p per kg 

chicken   £6 per kg 

 

She pays with a £20 note. 

 

Work out the change that Mehvish should get. 

 

 

 

 

 

 

 

 

 

 £ .............................................  

 

 (Total for Question 6 is 5 marks) 

7 Here are three symbols. 

 

 

 

 

Write one of these symbols on each dotted line to make four true statements. 

 

 

 (–8) 
2
  .............   –16 

 

 20 – 5 × 2  ............   30 

 

 √400  .............   20 

 

 y × y  .............   y 
2
 

 

 

 (Total for Question 7 is 3 marks) 

= ˂ ˃ 



 

8 Here are four fractions. 

 

2

3
 

5

8
 

3

5
 

7

11
 

 

Write the fractions in order of size. 

Start with the smallest fraction. 

 

 

 

 

 

 

 

 

 

 

  ................................................................................................  

 

 (Total for Question 8 is 2 marks) 

 

9 Here is a fair 4-sided spinner and a fair coin. 

 

 

 

 

 

 

Sophie spins the spinner once and throws the coin once. 

 

(a)  List all the possible outcomes. The first one has been done for you. 

 

............................................................................................................................................................................  

 

............................................................................................................................................................................  

 (2) 

(b)  Find the probability that Sophie will get an even number and a head. 

 

 

  .................................................  

 (2) 

 (Total for Question 9 is 4 marks) 

(1, H) 

 

10 150 people live in a village. 

Some of these people are pet owners. 

 

45 of the people live alone. 

30 of the pet owners do not live alone. 

50 of the people are pet owners. 

 

(a)  Use this information to complete the frequency tree. 

 

 
 (3) 

 

(b)   Write down the number of pet owners who live alone as a fraction of the total  

 number of people who live alone. 

Give your fraction in its simplest form. 

 

 

 

 

 

 

  .................................................  

 (2) 

 

 (Total for Question 10 is 5 marks) 

 

  



 

11 (a)  Factorise w 
2
 + 4w 

  

 

 

  .................................................  

(1) 

 

(b)  Solve   5(2p – 3) = 30 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 p = ...........................................  

(3) 

 

(c) Show the inequality  −1 ⩽ x < 4  on the number line below. 

 

 

 

 

 
 

 (2) 

 

 (Total for Question 11 is 6 marks) 

 

  

 

12 The table shows information about the distances travelled by 50 new cars before a tyre was 

changed. 

 

 

 

 

 

 

 

Calculate an estimate for the mean distance. 

 

 

 

 

 

 

  ......................................... km 

 

 (Total for Question 12 is 3 marks) 

 

13 The diagram shows a cylinder with diameter 10 cm and height 12 cm. 

 

 

 

 

 

 

 

 

 

Calculate the volume of this cylinder. 

Give your answer correct to 3 significant figures. 

 

 

 

 

 

 

 

  .........................................cm³ 

 

 (Total for Question 13 is 2 marks) 

Distance (d km) Number of cars 

  5000 ⩽ d ˂ 25 000 9 

25 000 ⩽ d ˂ 45 000 25 

45 000 ⩽ d ˂ 65 000 16 

10 

cm 

12 

cm 


